EXCLUSIVELY AT
Rard

AN
AEAK Modular Fencing \Q\@&\
s

Simple. Versatile. Beautiful. \\\\‘@

SIMPLE

Choose in-ground or hard surface post Install brackets and spacers Attach boards
(4-sided design works for end, mid, and corner post)

VERSATILE

Mix and match wood board sizes in the same section
Use multiple spacers to adjust privacy and airflow
One post for all applications (corner/mid/end)

Post can be cut to any height

Posts won't warp, twist or crack

Designed for wind speeds up to 105 mph

Peak Decorative Screens
available on homedepot.com

2481 1007866565 76" Aluminum Hard Surface Post Matte Black
2491 1007607535 94" Aluminum In-Ground Post Matte Black
2484 1007607528 Y," Aluminum Spacers Matte Black
2486 1007626161 1 x 6 Wood Board Aluminum Bracket Matte Black
2487 1007626181 1 x 4 Wood Board Aluminum Bracket Matte Black
2498 1007626208 */a x 6 Wood Board Aluminum Bracket Matte Black

Components Required per 6' Fence Section

8- #12 x 1" flat head screws
Wood 72 - #8x 3/4" screws
Board 8- #12 x 1" flat head screws

12 24 22

48 - #8 x 3/4" screws

Available online at

homedepot.com




